Chemistry 


HS/Science


Unit: 11 Lesson: 01

Calculating the pH of a Solution
 NOTE: Be sure to follow significant figures rules with calculations.

1. Find the pH of solutions with the following hydrogen ion concentrations [H+]:
a.  1.00 x 10-8 M    


                     
b. 1.00 x 10-5 M





c. 6.59 x 10-10 M









d. 6.89 x 10-14 M

2. Find the hydrogen ion concentration for the following solutions:
a. pH = 2.00



    
   

b. pH = 11.0






c. pH = 6.50






d. pH = 7.56



  

3. Find the pH of each of the following solutions where pOH = 14 – pH:

a. pOH =  8.00




b. pOH =  2.00





c. pOH = 4.916





d. pOH = 1.226


4. Determine the [H+]   for #3a  and #3b above.
5. Calculate the pH of solutions with the following hydroxide concentrations  [OH-]:
a.  1.00 x 10-8   M                     

      


b. 3.45 x 10-3 M





c. 2.93 x 10-2 M

6. Soft drinks have a pH of about 3 and general detergents have a pH of 10.  Calculate the pOH for each of the substances.

a. soft drinks          
      

      
b. general detergents                   
7. What is the pH of 0.00001M NaOH?       

8. Define pH  What is the range of pH values in each of the following solutions?

a. Basic ____________________________

b. Acidic ____________________________

c. Neutral ___________________________

9. Relate cause and effect  What happens to the hydrogen ion concentration as the pH of a solution increases?
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